
 1. FATALITY COST        =     500,000 
 2. SEVERE INJURY COST   =     110,000 
 3. MODERATE INJURY COST =      10,000 
 4. SLIGHT INJURY COST   =       3,000 
 5. PDO LEVEL 2 COST     =       2,500 
 6. PDO LEVEL 1 COST     =         500 
 7. ENCROACHMENT MODEL = ENC. RATE * (ADTeff ^ ENC. POWER) ENCROACHMENTS/MILE/YR 
                        = 0.0005000 * (ADTeff ^ 1.000000) ENCROACHMENTS/MILE/YR 
 8. ENCROACHMENT ANGLE AT 40 MPH =    17.2 DEGREES 
 9. ENCROACHMENT ANGLE AT 50 MPH =    15.2 DEGREES 
 10. ENCROACHMENT ANGLE AT 60 MPH =    13.0 DEGREES 
 11. ENCROACHMENT ANGLE AT 70 MPH =    11.6 DEGREES 
 12. LIMITING TRAFFIC VOLUME PER LANE =  10,000 VEHICLES PER DAY 
 13. SWATH WIDTH =    12 FT. 
 
 14. RESET ALL GLOBAL TO DEFAULT STARTUP VALUES. 
 
 DO YOU WISH TO CHANGE A PARAMETER VALUE (Y/N)? 
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Figure 49-10A 


